· KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 3882	API No. 15 - 15-053-21155-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: ELLSWORTH
Address: 1670 BROADWAY, SUITE 3300	SW SE NE Sec. 34 Twp. 17 S. R. 10 ☐ East ☑ West
City/State/Zip: DENVER, CO 80202-4838	2500 feet from NORTH Line of Section
Purchaser: GARY-WILLIAMS ENERGY CORPORATION	775 feet from EAST Line of Section
Operator Contact Person: TOM LARSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 653-7368	(circle one) NB SE NW SW
Contractor: Name: SUMMIT DRILLING	Lease Name: SCHROEDER ET AL Well #: 1-34
License: 30141 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER	Producing Formation: ARBUCKLE
Designate Type of Completion: CONFIDENTIAL	Elevation: Ground: 1796' Kelly Bushing: 1806'
X New Well Re-Entry Workover	Total Depth: 3370' Plug Back Total Depth: 3326'
X Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 451 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☐ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT I WHW
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 5-2-07
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume
Commingled Docket No.	Dewatering method used KANSAS CORPORATION COMMISS
Dual Completion Docket No	Location of fluid disposal if hauled offsite: JAN 1 7 2006
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License NONSERVATION DIVISION
10/01/05 10/08/05 01/04/06	Quarter Sec. Twp. S. R. H. HICHSTALKSWest
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
·	
Kansas 67202, within 120 days of the spud date, recompletion, workove Information on side two of this form will be held confidential for a period of	with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, err or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING submit CP-111 form with all temporarily abandoned wells.
	te the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	
14 W +1	KCC Office Use ONLY
Signature: Momas 1) Tental	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 01/13/2006	If Denied, Yes Date:
TANKIA DV	Wireline Log Received
Subscribed and sworn to before me this 13th day of JANUAGE	
20 <u>05</u>	Geologist Report Received
Notary Public: Dmmy on Fadden gr	UIC Distribution
i · · · · · · · · · · · · · · · · · · ·	
Date Commission Expires:	



CONFIDENTIAL

Side Two

ORIGINAL

Operator Name: _	SAMUEL GAF	RY JR. & ASSOCI	ATES, INC.		Lea	se Name: _	SCHROEDER E	T AL	Well #:	1-34
Sec. 34	Twp. 17	S. R. 10	☐ Ea	ast 🛛 We	st Cou	inty:	ELLSWORTH			
INSTRUCTIONS: tool open and clos and flow rates if ga Attach final geolog	ed, flowing and as to surface te	d shut-in pressure est, along with fina	s, whether sl	hut-in press	sure reached s	static level, hy	ydrostatic pressui	drill stem tests givinges, bottom hole ten of all Electric Wirel	nperature, fluid	recovery,
Drill Stem Tests Ta		☐ Yes	⊠ No		☑ Log	. F	Formation (Top),	Depth and Datum	•	☐ Sample
Sample Sent to Ge	eological Surve	ey 🛚 Yes	□ No) .	Name TOPEKA HEEBNER			25	663' 822'	-757 -1016
Cores Taken		☐ Yes	⊠ No	,	DOUGLAS BRN LIME		KA		150' 138'	-1044 -1132
Electric Log Run (Submit Copy)		Yes	. 🔲 No		LANSING ARBUCKL TD	E	JAN 16	29 32 33	954' 274' 370'	-1148 -1468
List All E. Logs Ru			POROSITY	,		C	ONFIDE	2006 NTIAL		
			SING RECC		New	☑ Use	d roduction, etc.			
Purpose of string	Size Hole Drilled	Size Casing Set (in O.D.)	Weight Lbs./Ft.	Setting Depth		Type of Cement	# Sacks Used	Туре а	nd Percent Ad	ditives
SURFACE	12-1/4"	8-5/8"	28	451'	CLASS A		240	2% GEL & 3% CO		
PRODUCTION	7-7/8"	5-1/2"	14	3367'	65-35 POZ ASC		125 100	14 #/SK FLOCELE 5 #/SK GILSONIT		31
			ADI	DITIONAL	 CEMENTING/	SQUEEZE F	RECORD			
Purpose:		Depth Top Botton	1	Турє	of Cement		# Sacks Used	Туре а	nd Percent Ad	ditives
Perforate Protect Ca Plug Back Plug Off Zo	TD	, op better			,					
		ORATION RECO						re, Shot, Cement, S		
Shots per Foot 4 JSPF	3286-90	pecify Footage of	Each Interva	l Perforate	ea	NONE	(Amount and Kin	RECEIVE		Depth
10011			<u> </u>				/a ns	AS CORPORATION	COMMISSION	
				·				JAN 172		
							C	CONSERVATION DIS WICHITA, KS	/ISION	
						Lines Due		WIOTINA, NO		
TUBING RECORD		Size 2-7/8"	Set At 3323		Packer At NONE	Liner Run	☐ Yes	⊠ No		
Date of First, Resu	med Productio		Produci	ng Method	_					
Estimated Producti Per 24 Hours	01/04/06 ion	Oil Bbls	. Gas		lcf Wat	Flowing er Bb	Pumping Is. G	Gas Lift		er <i>(Explain)</i> Gravity 42 ⁰
Disposition of Gas		30		- 0 -	METHOD C	of COMPLE	TION		P	roduction Interval
•	Sold mit ACO-18.)	☐ Used on Le	ease		en Hole	Perf.	Dually Com	np. 🔲 Commir		3286 – 90

CONFIDENTIAL

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 098981

Invoice Date: 10/20/05

RECEIVED KANSAS CORPORATION COMMISSION

JAN 17 2006

CONSERVATION DIVISION WICHITA, KS

Sold Samuel Gary, Jr. & Assoc. % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

To:

Cust I.D....: Gary

P.O. Number..: Schroeder etal #1-34

P.O. Date...: 10/20/05

Due Date.: 11/19/05 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
ALW	125.00	SKS	8.1500	1018.75	Т
ASC	100.00	SKS	10.7500	1075.00	T
KolSeal	500.00	LBS	0.6000	300.00	T
FloSeal	31.00	LBS	1.7000	52.70	Т
CD-31	50.00	PER	6.2500	312.50	${f T}$
AS Flush	500.00	PER	1.0000	500.00	${f T}$
DeFoam	16.00	PER	5.7500	92.00	${f T}$
Salt	6.00	SKS	15.7500	94.50	${f T}$
Handling	265.00	SKS	1.6000	424.00	\mathbf{E}
Mielage	26.00	MILE	15.9000	413.40	\mathbf{E}
265 sks @.06 pe	r sk per mi				
Production	1.00	JOB	1320.0000	1320.00	E
Mileage pmp trk	26.00	MILE	5.0000	130.00	E
Rotating Head	1.00	PER	75.0000	75.00	Ε

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 580.78 ONLY if paid within 30 days from Invoice Date

Subtotal: 5807.85 217.06 Tax...: Payments: Total . . . :

6024.91

0.00

☐ DRLG	ØCOMP, □W/O □LOE	
AFE#	34	
ACCT #_	137/60 0	
APPROVE	DBY TC. prison	-

1411 17 223

CONSERVATION DIVISION WICHITA, KS

PRINTED NAME

ALLIED CEMENTING CO., INC.

22724

		•
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	IDENTIAL SE	RVICE POINT:
RUSSELL, KANSAS 07003 VVIII		1 th Bend
V.	CALLED OUT ON LOCATION	10-9-05
DATE 0-9-05 SEC. TWP. RANGE	CALLED OUT ON LOCATION 11.45 PM	JOB START JOB FINISH
Sel-ras ber		COUNTY STATE
	shyood Betty 3/4N, W/S	Ellworth Kz
OLD OR NEW (Circle one)	_	
CONTRACTOR Summit All	OWNED \$	
TYPE OF JOB Production	OWNER Same	
HOLE SIZE 7%" T.D. 3370'	CEMENT	
CASING SIZE 5'4" DEPTH 3369'		2,65/35 690 12 14# Plan
TUBING SIZE DEPTH	100.0. LSC S#V-0	Inh W/CD 31 + Deformer
DRILL PIPE DEPTH	500 grl Ast	m 1CD 31 2 Dybames
TOOL DEPTH	- 4	
PRES. MAX 1500 MINIMUM	COMMON ALW 125	@ 8.15 1018.15
MEAS. LINE SHOE JOINT 42,49	POZMIX	@
CEMENT LEFT IN CSG.42.49'	GEL	@
PERFS.	CHLORIDE	
DISPLACEMENT 81.17 bls	ASC , 100	@ 10.75 1015,00
EQUIPMENT	\$ Kolseal, 500	@ .60 300.00
8	Kelslal, 500 Hestal 31 CD31 50 CD31 50 CD31 50 CD31 500 C	_@_1.7052.70
PUMPTRUCK CEMENTER 1 5 5	50 50	@ 6,25 31z,50
#181 HELPER Rule H. 88 X	SMAS Flush 500	@ 1,00 500.Q
BULK TRUCK	Ende Foamer 16	_@ 5.75 92.0
#29 DRIVER STEVET 30 N	esalt (6)	@ 15175 94,5
PUMP TRUCK CEMENTER TO DESCRIPTION OF THE LIPER PUSH TO THE LIPER	<u>8</u> — — — — — — — — — — — — — — — — — — —	
# DRIVER 9 .	HANDLING 265	@ 1.60 424.00
	HANDLING 265 MILEAGE 26,6,26	5 11340
REMARKS:	WILLEAGE CO. 2 70	412170
Ron 3369 1 of Saicra. Broke arcutation		TOTAL <u>4282,8</u> 5
		•
Circulated IXL. Punhaped 5 bbls H2O - 10bbls AST- 15 bbls H3O. Missed 125 ch	SERV	ICE
5/35 696 My 14 # Flored - 100 h ASC.	DEDENI OF 100 COLOR	
5 Koludal W CD 31 a Reformer	DEPTH OF JOB 3316	
on beguland, pull becaled au behad	PUMP TRUCK CHARGE	1320,00
real 430. Landed Plus at 1500 H		-@ 5180 /3p.00
bleased & Hold.	MILEAGE 26	
	MANIFOLD Kolating Read	@
	Koldling Reich	
CHARGE TO: Samuel A No.		100
CHARGE TO SOME TANK A R I PAROLLINE	^ -	7525.00
CHARGE TO: Somuel You TR . Associate STREET So Lanon Engileering	•	TOTAL TOTAL
CITYSTATEZIP	•	
STATEZIP	PLUG & FLOAT	Γ EOUIPMENT
	,	
a company of the second	sale to de la constantina	@
		_ @
To Allied Cementing Co., Inc.		
You are hereby requested to rent cementing equipment		@
and furnish cementer and helper to assist owner or		@
contractor to do work as is listed. The above work was		
done to satisfaction and supervision of owner agent or		TOTAL
		TOTAL
contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAX	
CONDITIONS—Isseed on the reverse side.	•	
	TOTAL CHARGE	
	DISCOUNT	IF DAID IN 20 DAVE
\		
\ /	Jan	/_ ¬
IGNATURE V	V=- </td <td></td>	

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 098779

Invoice Date: 10/06/05

CONFIDENTIAL

RECEIVED KANSAS CORPORATION COMMISSION

JAN 17 2006

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Gary P.O. Number..: Schroeder 1-34

P.O. Date...: 10/06/05

To: % Larson Engineering, Inc. 562 W. Highway #4

Samuel Gary, Jr. & Assoc.

Olmitz, KS 67561-8561

Sold

Due Date.: 11/05/05 Terms....: Net 30

<pre>Item I.D./Desc.</pre>	Qty. Used	Unit	Price	Net	TX
Common	240.00	SKS	8.7000	2088.0	
Gel	5.00	SKS	14.0000	70.0	
Chloride	7.00	SKS	38.0000	266.0	0 T
Handling	252.00	SKS	1.6000	403.2	0 E
Mileage	24.00	MILE	15.1200	362.8	8 E
252 sks @.06 pe	r sk per mi				
Surface	1.00	JOB	670.0000	670.0	0 E
Mileage pmp trk	24.00	MILE	5.0000	120.0	0 E
Extra Footage	58.00	PER	0.5500	31.9	0 E
Wooden Plug	1.00	EACH	55.0000	55.0	0 T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$406.70 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total . . . :

4066.98 156.18 0.00 4223.16

3816.4

DRLG AFE #	□ COMP 34	□ W/O	
ACCT#_	135/	60	7

ALLIED CEMENTING CO., INC.

22535

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
DATE 10 2-05 SEG 4 TWP. 7 RANGE 10 m	CALLED OUT ON LOCATION JOB STARE JOB FINISH
345/17	Huy - Holyrood Bit. Edwart STATE
CONTRACTOR Summit Rg #1	OWNER OWNER
TYPE OF JOB Surface HOLE SIZE 1941 T.D. 454 AP	CEMENT
CASING SIZE S S DEPTH 458 H	AMOUNT ORDERED 240 Common
TUBING SIZE DEPTH DRILL PIPE DEPTH	3700 225cl
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 240 s4 @ 870 2088
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG. 15 ## PERFS.	GEL SA4 @ 14.00 70.00
DISPLACEMENT 273	CHLORIDE 7 A4 @ 33 @ _ 2bba ASC @
EQUIPMENT	
	@ RECEIVED
PUMPTRUCK CEMENTER M: k = m.	@KANSAS CORPORATION COMMI
# 120 HELPER J. D. D.	
BULK TRUCK # 34/ DRIVER Robert B.	@ CONSERVATION DIVISION
# 34/ DRIVER Hobert 3. BULK TRUCK	@ WICHITA, KS
# DRIVER	(a)
	— HANDLING 25814 @ 1.60 403.21 MILEAGE 2521400 24 362 88
REMARKS:	TOTAL 3/90.06
	101AL 3190.05
Circulate Holowith Pamortruck	SERVICE
Mix Conent + Relose Phug Displo	
:+ Pour with water	DEPTH OF JOB
Gement did Circulate To	PUMP TRUCK CHARGE 67000 EXTRA FOOTAGE 88 @ S5 3190
Surface	EXTRA FOOTAGE
	— MANIFOLD@
Some	
CHARGE TO: Samuel Mary	6210
STREET	тотаl <u>821.90</u>
CITYSTATEZIP	
A	PLUG & FLOAT EQUIPMENT
Thank	
Vou	1.88 woods is Phus @ 55.00 55.00
To Allied Cementing Co., Inc.	
You are hereby requested to rent cementing equipment	@
and furnish cementer and helper to assist owner or	@
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL 5500
contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse side.	D . TAX
CONDITIONS disted on the leverse side.	
	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DAYS
CICNIATURY (1 700 1
SIGNATURY COM CONT	DDINTED NAME